

① $y = X\beta + \epsilon$
 where $y = \begin{bmatrix} y_1 \\ y_2 \\ \vdots \\ y_n \end{bmatrix}$, $X = \begin{bmatrix} 1 & x_{11} & x_{12} & \dots & x_{1p} \\ \vdots & \vdots & \vdots & \dots & \vdots \\ 1 & x_{n1} & x_{n2} & \dots & x_{np} \end{bmatrix}$, $\beta = \begin{bmatrix} \beta_0 \\ \beta_1 \\ \vdots \\ \beta_p \end{bmatrix}$, $\epsilon = \begin{bmatrix} \epsilon_1 \\ \epsilon_2 \\ \vdots \\ \epsilon_n \end{bmatrix}$
 $\epsilon \sim MVN(0, I\sigma^2)$
 $y \sim MVN(X\beta, I\sigma^2)$

求 MLE
 likelihood: y is a $n \times 1$ vector n -dimensional normal dist.

$$\frac{1}{\sqrt{(2\pi)^n |\Sigma|}} \exp\left\{-\frac{1}{2} (y - \alpha)^T \Sigma^{-1} (y - \alpha)\right\}$$

$$\frac{1}{\sqrt{(2\pi)^n (\sigma^2)^n}} \exp\left\{-\frac{1}{2} (y - X\beta)^T \frac{1}{\sigma^2} (y - X\beta)\right\}$$

 -log-likelihood:

$$l(\beta, \sigma) = -\log(\text{likelihood}) = -\log \frac{1}{\sqrt{(2\pi)^n (\sigma^2)^n}} \exp\left\{-\frac{1}{2} (y - X\beta)^T \frac{1}{\sigma^2} (y - X\beta)\right\}$$

$$= -\log \frac{1}{\sqrt{(2\pi)^n (\sigma^2)^n}} - \log \exp\left\{-\frac{1}{2} (y - X\beta)^T \frac{1}{\sigma^2} (y - X\beta)\right\}$$

$$= -\log \frac{1}{\sqrt{(2\pi)^n (\sigma^2)^n}} - \frac{1}{2} (y - X\beta)^T \frac{1}{\sigma^2} (y - X\beta)$$

$$\frac{\partial l(\beta, \sigma)}{\partial \beta} = -\frac{1}{2} \frac{1}{\sigma^2} \sum_{i=1}^n (y_i - x_i^T \beta) \cdot x_i$$

$$\frac{\partial l(\beta, \sigma^2)}{\partial \sigma^2} = -\frac{n}{2\sigma^2} + \frac{1}{2\sigma^4} \sum_{i=1}^n (y_i - x_i^T \beta)^2 = 0$$

再试一遍!!!

$y = \begin{bmatrix} y_1 \\ y_2 \\ \vdots \\ y_n \end{bmatrix}$, $X = \begin{bmatrix} x_{11} & x_{12} & x_{13} & \dots & x_{1p} \\ x_{21} & x_{22} & x_{23} & \dots & x_{2p} \\ \vdots & \vdots & \vdots & \dots & \vdots \\ x_{n1} & x_{n2} & x_{n3} & \dots & x_{np} \end{bmatrix}$, $\beta = \begin{bmatrix} \beta_1 \\ \beta_2 \\ \vdots \\ \beta_p \end{bmatrix}$, $\epsilon = \begin{bmatrix} \epsilon_1 \\ \epsilon_2 \\ \vdots \\ \epsilon_n \end{bmatrix}$
 $y = X\beta + \epsilon \Rightarrow E(y) = X\beta$

求 $\beta_{MLE}, \sigma^2_{MLE}$
 ① $y \sim MVN(X\beta, \sigma^2 I)$
 ∴ likelihood: n -dimensional normal.

$$l(\beta, \sigma) = \frac{1}{\sqrt{(2\pi)^n |\Sigma|}} \exp\left\{-\frac{1}{2} (y - X\beta)^T \Sigma^{-1} (y - X\beta)\right\}$$

 ② ∴ log-likelihood:

$$l(\beta, \sigma) = -\log \frac{1}{\sqrt{(2\pi)^n (\sigma^2)^n}} - \frac{1}{2} \sum_{i=1}^n (y_i - x_i^T \beta)^2$$

 ③ ∴ score function

$$\frac{\partial l(\beta, \sigma)}{\partial \beta} = -\frac{1}{2\sigma^2} \sum_{i=1}^n (y_i - x_i^T \beta) x_i = 0$$

$$\frac{\partial l(\beta, \sigma^2)}{\partial \sigma^2} = -\frac{n}{2\sigma^2} + \frac{1}{2\sigma^4} \sum_{i=1}^n (y_i - x_i^T \beta)^2 = 0$$

$$\frac{\partial l(\beta, \sigma^2)}{\partial \sigma} = -\frac{n}{\sigma} + \frac{1}{2\sigma^3} \sum_{i=1}^n (y_i - x_i^T \beta)^2 = 0$$

From ①, we have $\sum_{i=1}^n (y_i - x_i^T \beta) x_i = 0$

$$\sum_{i=1}^n y_i x_i - \sum_{i=1}^n x_i^T \beta x_i = 0$$

$$X^T y - X^T X \beta = 0$$

$\sum_{i=1}^n y_i x_i$ is scalar; x_i is $1 \times p$ vector
 $X^T y$ is $n \times p$
 $X^T X$ is $p \times p$
 $X^T y = X^T X \beta$
 Tricks: $X^T y$ is $p \times 1$ vector, $X^T X$ is $p \times p$ matrix

$\sum_{i=1}^n x_i^T \beta x_i = p \times p$
 $X^T X \beta = X^T y$
 $X^T X$ is $p \times p$ matrix
 X is $n \times p$ matrix

$X^T y = X^T X \beta \Rightarrow \hat{\beta} = (X^T X)^{-1} X^T y$

$$\frac{\partial l(\beta, \sigma)}{\partial \sigma} = -\frac{n}{\sigma} + \frac{1}{\sigma^3} \sum_{i=1}^n (y_i - x_i^T \beta)^2 = 0$$

$$n\sigma^2 = \sum_{i=1}^n (y_i - x_i^T \beta)^2 = 0$$

$$\hat{\sigma}^2 = \frac{1}{n} \sum_{i=1}^n (y_i - x_i^T \hat{\beta})^2$$

假设: assume $(X^T X)^{-1}$ exists:
 ① $\hat{\beta} \sim N_{p \times 1}(\beta, \sigma^2 (X^T X)^{-1})$
 ② $n\hat{\sigma}^2 / \sigma^2 \sim \chi^2(n-p)$
 ③ $\hat{\beta}$ and $\hat{\sigma}^2$ are independent
 ④ proof: $\hat{\beta} = (X^T X)^{-1} X^T y$, $y \sim MVN(X\beta, \sigma^2 I)$

$$\hat{\beta} \sim N\left((X^T X)^{-1} X^T X \beta, (X^T X)^{-1} X^T \left[\sum_{i=1}^n (x_i^T \beta)^2 \cdot \sigma^2\right] X (X^T X)^{-1}\right)$$

$$N\left(\beta, (X^T X)^{-1} \cdot \sigma^2\right)$$

 projection of x on y : $\frac{x^T y}{\sqrt{x^T x} \sqrt{y^T y}}$

$y \sim MVN(\mu_y, \Sigma_y)$, then $MVN(Ay, A \cdot \Sigma_y A^T)$

② $\hat{\sigma}^2 = \frac{1}{n} \sum_{i=1}^n (y_i - x_i^T \hat{\beta})^2 = \frac{1}{n} \|Y - X\hat{\beta}\|^2 = \frac{1}{n} \|Y - X(X^T X)^{-1} X^T Y\|^2$

$$= \frac{1}{n} \|(I - X(X^T X)^{-1} X^T) Y\|^2$$

 Let $H = X(X^T X)^{-1} X^T$

$$\hat{Y} = X\hat{\beta}; \hat{Y} = X(X^T X)^{-1} X^T Y$$

$$Y - \hat{Y} = (I - H)Y$$

 symmetric idempotent
 ① $H^T = H$
 ② $H^2 = H$
 ③ dimension $H = n \times n$

quadratic form $Y^T Y = \sum_{i=1}^n y_i^2$

最后 $\hat{\sigma}^2$ is scalar. 那就按 $1 \times n$ - $n \times 1$

$$\sqrt{(Y - X\hat{\beta})^T (Y - X\hat{\beta})}$$

$$= \sqrt{(Y - X(X^T X)^{-1} X^T Y)^T (Y - X(X^T X)^{-1} X^T Y)}$$

$$= (Y - HY)^T (Y - HY)$$

$$= [X\beta + \epsilon - H(X\beta + \epsilon)]^T (X\beta + \epsilon - H(X\beta + \epsilon))$$

$$= (\epsilon - H\epsilon)^T (\epsilon + H\epsilon)$$

$$= [(I - H)\epsilon]^T [(I + H)\epsilon]$$

$$= \epsilon^T (I - H)^T (I - H) \cdot \epsilon$$

$$= \epsilon^T (I - H) \epsilon$$

$$\hat{\sigma}^2 = \frac{1}{n} \epsilon^T (I - H) \epsilon$$

H is symmetric, idempotent
 $(I - H)(I - H) = I - I - H - H + H + H = I - 2H + H = I - H$ idempotent
 $\therefore (I - H)^T = I - H$ symmetric

quadratic theorem 3:
 if $y \sim N(0, \sigma^2 I)$, M is symmetric, idempotent,
 then $\frac{y^T M y}{\sigma^2} \sim \chi^2(\text{tr} M)$

idempotent matrix:
 eigenvalues 1 or 0.

$$\frac{n\hat{\sigma}^2}{\sigma^2} = \frac{n}{\sigma^2} \cdot \frac{1}{n} \epsilon^T (I - H) \epsilon$$

$$= \frac{\epsilon^T (I - H) \epsilon}{\sigma^2}$$

 $\epsilon \sim N(0, \sigma^2 I)$
 $I - H$: symmetric, idempotent

$\text{trace} = \text{rank} = p$
 $\text{tr}(I - H)$ trace: sum of diagonal elements
 sum of eigenvalues.
 Sum eigenvalue $(A - B) = \text{eigenvalue } A - \text{eigenvalue } B$
 $\text{trace} = n$ Sum eigenvalue $I = n$
 H is a fun of X
 Sum eigenvalue $H = \text{trace } H = \text{rank } H \stackrel{!}{=} \text{rank } X \leftarrow X = n \times p$
 (p) (p) (p) (p)
 H idempotent, trace = rank

$\text{trace}(I - H) = n - p \leftarrow \text{sum eigenvalues } (I - H) = n - p$

$$\therefore \frac{n\hat{\sigma}^2}{\sigma^2} \sim \chi^2(n - (p + 1))$$

③
$$\hat{\sigma}^2 = \frac{1}{n} \sum_{i=1}^n (y_i - x_i^T \hat{\beta})^2$$

$$= \frac{1}{n} (Y - X\hat{\beta})^T (Y - X\hat{\beta})$$

Show $\hat{\beta}$ and $\hat{\sigma}^2$ indep \Rightarrow show $\hat{\beta} \perp (Y - X\hat{\beta})$

$$\hat{\beta} = \frac{(X^T X)^{-1} X^T y}{A}$$

$$Y - X\hat{\beta} = Y - \frac{X(X^T X)^{-1} X^T Y}{H} = \frac{(I - H)Y}{B}$$

$$A \cdot B = 0$$

$$A \cdot B = (X^T X)^{-1} X^T \cdot (I - H)$$

$$= (X^T X)^{-1} X^T - (X^T X)^{-1} X^T \cdot X \cdot (X^T X)^{-1} X^T$$

$$= 0$$